A & 0l & A
20158 =3 1 3 JIEESEH & ™ G dAH)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 pp—
sSEE
S Al 80,753,727 60,125,312 20,628,415 34.31%
ALY 62,866,830 45,069,496 17,797,334 39.49%
HWegs 17,796,593 14,965,512 2,831,081 18.92%
A =2S 90,304 90,304 0 0.00%
g}FES 17,751,261 14,892,886 2,858,375 19.19%
ot - =2 14,551,985 13,656,463 895,522 6.56%
FEINHEEYH 29 74,000 36,000 38,000 105.56%
=HNLSESH 2S(=RNLSEAH) 74,000 36,000 38,000 105.56%
Not=SE3 A2 2,167,096 2,126,204 40,892 1.92%
Not=S3 2L (Xot=SL3) 2,167,096 2,126,204 40,892 1.92%
Hess(2aZ M) 12,088,889 11,272,259 816,630 7.24%
UWERHHXES(=EHESE3A) 12,088,889 11,272,259 816,630 7.24%
Heas(6h+=m) 222,000 222,000 0 0.00%
HEAHHX & (XSS 3 H) 222,000 222,000 0 0.00%
HOI2 3,199,276 1,236,423 1,962,853 168.75%
HIOISHM2AANEMNSSEIIAH 2 85,170 85,170 0 0.00%
HIOISEM2AEMLESSH 22 (HIISHM 85,170 85,170 0 0.00%
ANEASES3)
Heass(E3amn) 3,114,106 1,151,253 1,962,853 170.50%
HWEHH XIS (HIIS M AISALSES ) 3,114,106 1,151,253 1,962,853 170.50%
At = Xl 4,301,399 4,226,314 75,085 1.78%
=dged 116,598 65,000 51,598 79.38%
Heags(uegerdit) 116,598 65,000 51,598 79.38%
BHEXNE(YES0HISETLESESA) 116,598 65,000 51,598 79.38%
FAHSXE 4,184,801 4,161,314 23,487 0.56%
2slIsxdSEsH &9 4,184,801 4,161,314 23,487 0.56%
AEZNHIISELEELINH 2L (Y=220I12 4,184,801 4,161,314 23,487 0.56%
THEE3A)
=EXNS 50,747,775 33,052,820 17,694,955 53.54%
SANEE 50,747,775 33,062,820 17,694,955 53.54%
SANEEAMY SE3H 2 50,747,775 33,052,820 17,694,955 53.54%
SANEBEMNY SE3H 2SS (SAECMLEE 50,747,775 33,062,820 17,694,955 53.54%
313)
=EYXANLY 7,862,988 7,862,988 0 0.00%
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